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() Ve ST D AR A

(A) Weightage as per Educational objective:

|0 3h0 SEGLL 3i® gfirera
. =M (Knowledge) 38 38%
2, sadier  (Understanding) 38 38%
3. ITIANT T§ et (Application & Skill) 24 24%
T 100 100%

(@) SHEAR Pl BT 99

HOH0 | SPIS BT W $PlR W IAERT 3P | 913 & UTHU AR

JEfed 3w
1. Prose 23 23
2. Poetry 15 15
3. Vocabulary 05 05
4. Drama 10 10
5. Grammar 15 15
6. Unseen Passage 08 08
7. Story Writing 04 04
8. Paragraph Writing 04 04
9. Letter/Application 04 04
10. Precis Writing 04 04
1. Essay Writing 08 08
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(@) ®fdg wR (Difficulty Level)

|0 30 SEGLL 3i® gfirera
1. W (Easy) 30 30%
2, 3T _(Average) 55 55%
3. dfod (Difficult) 15 15%

T 100 100%
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3 Gratmmar o g el Y e e R s T (i [ Bl e T Feg Bl S e e ] (e )
4 | Composition | 8 | — |=|=|=|—|=|-| = |=|=|=|—-|=|-| = |-l 2 |-|-|=]|—-| -
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Writing
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8
9
10
11
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1 TS, — TSR
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U — 9 P Aol
Scheme of Question Paper
fawg— Malayalam quTieh : 100
9 ;3 HT
QRIEAT : ERR HHUSY
(37) Nuforp S & ITIAR HH

(A) Weightage as per Educational objective:

|0 3h0 SEGLL 3i® gfirera
=M (Knowledge) 30 30%

2, sadier  (Understanding) 50 50%
3. ITIANT T§ et (Application & Skill) 20 20%
T 100 100%

(@) SHEAR Pl BT 99

HOH0 | SPIS BT W $PlR W IAERT 3P | 913 & UTHU AR
JEfed 3w
1. Grammar 20 20
2. Essay 12 12
3. Unseen 08 08
4. Prose 32 32
5. Poetry 28 28
6.
7.
8.
9.
10.
1.
12.




(@) ®fdg wR (Difficulty Level)

|0 30 SEGLL 3i® gfirera
1. W (Easy) 35 35%
2, 3T _(Average) 50 50%
3. dfod (Difficult) 15 15%

T 100 100%

@) yeaua e fder @ fAeen Aomm —
(Instruction's & Scheme of Option for Question Paper)

o IXTSS U H (05) dgfddmediy wed Term (05) Radd I @ Yfd /I el
1Y BT G AT ST 3R I8 Ucdes Ae H U HAld 1 BT |

@ UIF AC H1, 2Td 3 3@ & yAl H fA=ar & | TR 04 (F AT A
31fereh 3T & TSR qAT STESTRIT el H fddweq faar Srem 2 | fdaed
T I Pl W dAT FHM I & i | 04 3 IT I AP bl &

U9 UP AT H U FHAM Tedl |
o JIIfErdHTH ITR AT sifcrergsTda (2 3 /30 31e2) (3 3 /50 TI)
ST (4 3w / 75 W) (5 3ih /150 IR)
EEERAE (6 3 T Afdrd /250 91<q)



U — U Bl U<

Blue Print of Question Paper

fawa:— Malayalam quTies : 100
I : 3 T
URIETT : 8RR Hdhusy]
EGOE] EGJE! IPhlE W Jhae g Sl
. Rl 3P PES]
1 3F|2 FH|3 Fh|4 IF|5 IAF|6 I |6 3T
o
TE
Ffw
(12)
1 Grammar 20 = L 2 - = = = 6
(2x1)({(3x1)|{4x1)
2 |Essay 12 — | =] = | =1 =] = 1 1
3 |Unseen 8 = o g 9 oo s s 2
4 |Prose 32 6 4 i 3 — — — 149
5 |Poetry 28 4 3 3 1 1 = = 148
6
7
8
9
10
11
12 1426
10
AT 100 (1) 16 21 36 5 = 12 100




U — YA Dl Ql_‘la?

(Blue Print of Question Paper)
faw:— Malayalam quTies : 100
99 : 3 T

TR : BN HhUey]

Hmagesd = (Knowledse) | #7899 (Understanding) | T990RT U9 T

e (Application & Skill)
Wl & Wb
EHES EE e BN RS EEE ER R R EEE BRI S
= = = s g
o | F = il
e
sw| 1|23 4]5]e 1[2]3f45]e 1]2]2]4]|5] 8 |12
1 | {Cranmmer 220 | B | == |=le—les] sieid | sleileomlnlos| ms e sulles| = | =
2 Essay i | e || asdislen] muleion | el slelateclun| s o | mie shms| ae | g
3 | Unseen gy | e |l glaee) peale-oise (g slee simeeise glges| pre (e | e | o (e e e
4 Prose 32 |6 |al2|3]-|=|-|=|=|=|—-|-|=|—-| =|—=|=|-|-|—1|-
5 Poetry |28 | —|—|—|—=|-|=|-| 4 |3|3[1]|1]|—-|—|=|-|=|-|—-| - |-
6
7
8
9
10
11
12
AT 100 | 14| 8 | 6|12 %|6|9|4(s5|—|—|—|—|—|8|]—| — |
1 TS, — TSR
2 IS - SR
3 C{ASS — QSR




Ued — U & Aol

Scheme of Question Paper

formar— el quiieh : 100
9 ;3 HT
QRIEAT : ERR HHUSY
(37) Nuforp S & ITIAR HH
(A) Weightage as per Educational objective:
|0 3h0 SEGLL 3i® gfirera
. =M (Knowledge) 24 24%
2, sadier  (Understanding) 34 34%
3. ITIANT T§ et (Application & Skill) 42 42%
T 100 100%

(@) SHEAR Pl BT 99

HOH0 | SPIS BT W $PlR W IAERT 3P | 913 & UTHU AR
HFRTA—1 Jrdfed sid
1. THRIT 24 24
2, freer 16 16
3. LE] 08 08
4, Jufed e 10 10
5. T 24 24
6. L] 18 18
7.
8.
)
10.
11.
12.




(@) ®fdg wR (Difficulty Level)

|0 30 SEGLL 3i® gfirera
1. W (Easy) 24 24%

2, 3T _(Average) 42 42%

3. dfod (Difficult) 34 34%

T 100 100%

@) yeaua e fder @ fAeen Aomm —

(Instruction's & Scheme of Option for Question Paper)

o IXTSS U H (05) dgfddmediy wed Term (05) Radd I @ Yfd /I el
Y BT e AT ST 3R I8 U Ae H U HHidb 1 B8R |

@ UIF UCT H1, 2 Ud 33D & U H far T | IR 04 3 AT 3N
31fereh 3T & TSR qAT STESTRIT el H fddweq faar Srem 2 | fdaed
T I Pl W dAT FHM I & i | 04 3 IT I AP bl &

U9 UP AT H U FHAM Tedl |
o JIIfErdHTH ITR AT sifcrergsTda (2 3 /30 31e2) (3 3 /50 TI)
ST (4 3w / 75 W) (5 3ih /150 IR)
EEERAE (6 3 T Afdrd /250 91<q)
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Blue Print of Question Paper

fawg— R quries : 100
9 ;3 ©c
TR BN HhUey]
| IR ECOERC N IEFAN H9T

Heh, ITEICT 31h | 1 3| 2 5| 3 3| 4 3| 5 i 8 3| 8 3
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10
AT 100 (1)1 71412 1|1




U — YA Dl Ql_!fl?

(Blue Print of Question Paper)

fawr— Rl quries : 100
Y ;3 HS
TRIET : 8RR HAhUs]

Hb|oged o =T (Knowledge) | oW (Understanding) | S757amT o @r9ie? (Application | ImT
O & Skill) it
e EEEE R ES EER EEEE B EEEEE Ei
w® (Fel = fre gt

& | W = =01
e
Py 2314|586 1 (2314|586 1121345 g |10 |16
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8
9
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12
ART |10 1| sl |=| e | | ] ] e [ el 11111184
1 TS, — TSR
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Ued — U & Aol

Scheme of Question Paper

fwa— oo A qoiieh : 100
9 ;3 HT
QRIEAT : ERR HHUSY
(37) Nuforp S & ITIAR HH
(A) Weightage as per Educational objective:
|0 3h0 SEGLL 3i® gfirera
. =M (Knowledge) 35 35%
2, sadier  (Understanding) 35 35%
3. ITIANT T§ et (Application & Skill) 30 30%
T 100 100%

(@) SHEAR Pl BT 99

HOH0 | SPIS BT ™ $PlR W IAERT 3P | 913 & UTHU AR
JEfed 3w
1. Prose 36 36
2. Poetry 34 34
3. Grammar 10 10
4. Essay 10 10
5. Letter / Application 06 06
6. Unseen Passage 04 04
7.
8.
9.
10.
11.
12.




(@) ®fdg wR (Difficulty Level)

|0 30 SEGLL 3i® gfirera
1. W (Easy) 31 31%
2, 3T _(Average) 50 50%
3. dfod (Difficult) 19 19%

T 100 100%

@) yeaua e fder @ fAeen Aomm —
(Instruction's & Scheme of Option for Question Paper)

o IXTSS U H (05) dgfddmediy wed Term (05) Radd I @ Yfd /I el
1Y BT G AT ST 3R I8 Ucdes Ae H U HAld 1 BT |

@ UIF AC H1, 2Td 3 3@ & yAl H fA=ar & | TR 04 (F AT A
31fereh 3T & TSR qAT STESTRIT el H fddweq faar Srem 2 | fdaed
T I Pl W dAT FHM I & i | 04 3 IT I AP bl &

U9 UP AT H U FHAM Tedl |
o JIIfErdHTH ITR AT sifcrergsTda (2 3 /30 31e2) (3 3 /50 TI)
ST (4 3w / 75 W) (5 3ih /150 IR)
EEERAE (6 3 T Afdrd /250 91<q)



U — YA Dl Ql_‘la?

Blue Print of Question Paper

favg— gorre (A=) quTies : 100
9 ;3 HT
WRIET : BRR AhHUSI]
ELOE] ELTE] ThE W FhaN g Easl
sh. JMECT 3D [1 a7 | 2 3b | 3 3|4 I|5 3D| 6 3| 6 5w | HT
o
eE
(10)
1 |Prose 36 o] 5 2 — 3 — — 10
2 |Poetry 34 5 1 7 4 1 1 = 7
3 | Grammar 10 == 2 2 5 = = e 4
4 |Essay 10 = — = == = i 1 1
5 Lettelr | 6 _ _ _ _ _ 1 _ 1
Application
o Unseen 7 ’ ;
Passage
.
8
9
10
11
12
24+1
AT 100 101 8 | 4 | 5| 4| 2|1
(25)




U — YA Dl Ql_‘la?

(Blue Print of Question Paper)

favg:— gorel (A=) quTies : 100
|HY ;3 ©C
TRIET : 8RR HAhUs]
Hb|ogew™ ST (Knowledze) HTET (Understanding) | S9N U4 HEa
=z (Application & Sall)
J eI R B R R R T R
= | = 3| =
fea
s |1 |2| 3 |4|s|e| |1 |2|3]|4]|5]s 1 |2|3[4]s5 |86 |10
1 Prose 36 | 5 | BB |l el | o cnlel e spen e fon|odonle of o]
2| Poetry |38 |—|1| = |3 ||| =|=|=|={1] || =|=|-|1|-|-|-
3| Grammer |10 |— [—| = |=|-[=|-|=12|=|-|-|-|-| = |-l2|-|-|- |-
4 Essay Ol ] EE R S S S B R e e e e Bl o B = R B
5 Leltter.-: PO [ [ s I O A O A
Application
5 TUnseen PR AP S I I I I U ) P (O
Passage
2
8
9
10
11
12
sl 6] 2 |3|-|-|-[sap|2|-|-|4|1|-|-|-[2]|2]-]1]1
a1

1. AHeld. — 3 ?IGIQGT"I'\S Y

2 A — YR
3 a3 - qEed




Ued — U & Aol

Scheme of Question Paper

fow— e quiieh : 100
9 ;3 HT
QRIEAT : ERR HHUSY
(37) Nuforp S & ITIAR HH
(A) Weightage as per Educational objective:
|0 3h0 SEGLL 3i® gfirera
. =M (Knowledge) 22 22%
2, sadier  (Understanding) 54 54%
3. ITIANT T§ et (Application & Skill) 24 24%
T 100 100%

(@) SHEAR Pl BT 99

{00 | SHIS BT AW

ghly R IMEfed 3P

Y03 & WU AR

JEfed 3w
1. Prose 31 31
2. Poetry 25 25
3. Grammar 20 20
4. Unseen Passage 08 08
& Summary Writing

5. Letter Writing 08 08
6. Essay Writing 08 08
7.

8.

9.

10.

11.

12.




(@) ®fdg wR (Difficulty Level)

|0 30 SEGLL 3i® gfirera
1. W (Easy) 22 22%

2, 3T _(Average) 54 54%

3. dfod (Difficult) 24 24%

T 100 100%

@) yeaua e fder @ fAeen Aomm —

(Instruction's & Scheme of Option for Question Paper)

o IXTSS U H (05) dgfddmediy wed Term (05) Radd I @ Yfd /I el
Y BT e AT ST 3R I8 U Ae H U HHidb 1 B8R |

@ UIF UCT H1, 2 Ud 33D & U H far T | IR 04 3 AT 3N
31fereh 3T & TSR qAT STESTRIT el H fddweq faar Srem 2 | fdaed
T I Pl W dAT FHM I & i | 04 3 IT I AP bl &

U9 UP AT H U FHAM Tedl |
o JIIfErdHTH ITR AT sifcrergsTda (2 3 /30 31e2) (3 3 /50 TI)
ST (4 3w / 75 W) (5 3ih /150 IR)
EEERAE (6 3 T Afdrd /250 91<q)



U — YA Dl Ql_!fl?

Blue Print of Question Paper

fawr— et quries : 100
I9Y : 3 e
NI : 8RR HhUsy)
EEIE EEQE] ThE W HHAN 9T Cas|
T, STEICT 3F [1 b | 2 3|3 3b|4 35| 5 3b|6 3b|6 aw| WA
||
(8)
1 |Prose 31 3 4 3 — 1 1 - 149
2 |Poetry 25 34 |1 | =11 |- 7
3 | Grammar 20 4 — 2 - 2 E e 4
Unseen
[y -
5 Passage & 5 _ _ B 5 B B B 5
Summary
Writing
5 |Letter Writing 8 = | = | = S — | = | = 2
6 |Essay Writing 8 = e |m= | = |oe| =] 1
=
8
9
10
11
12
1
AT 100 a0 08 | 06 | 04 | 04 | 02 | 01 26
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U — YA Dl Ql_‘la?

(Blue Print of Question Paper)

TR : BN HhUey]

quTieh : 100

I9g : 3 ©c

HA@w[Egesd = (Knowledge) Fgae (Understanding) AT U4 DA OrT
S— (Application & Skill) e
WAl B FHR aw
FE|og|Ad. 9| A q (I |gglad v | |aglaa|me| =
™ (= = = =
e | il ES]
w1 | 2] 3 sle| [ 1]lz]a3]4]5]68 1lz2lal4|s5] 6=
1 Prose 31 | = | | e 11|33 lalal|l-|=|=|=|=|=|=|=|=|=]|=] 149
2 Poetry 25 | —|—| - 11— 3|a|1]|=|=|=|=|=|=|=—-|-|—=|—] 07
3 | Grammar |20 |- [—| — e | mmlesl ol | | PofealiB| sl esinnlentes e w29
Thseen
4szage& ] L SN I T Y [N U Y D I N P I Y O (o
Summary
Writing
Letter
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Writing
Essay
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.
3
9
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11
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Ued — U & Aol

Scheme of Question Paper

faw:— Oriya General quries : 100
9 ;3 HT
QRIEAT : ERR HHUSY
(37) Nuforp S & ITIAR HH
(A) Weightage as per Educational objective:
|0 3h0 SEGLL 3i® gfirera
. =M (Knowledge) 30 30%
2, sadier  (Understanding) 50 50%
3. ITIANT T§ et (Application & Skill) 20 20%
T 100 100%

(@) SHEAR Pl BT 99

HOH0 | SPIS BT ™ $PlR W IAERT 3P | 913 & UTHU AR
JEfed 3w
1. Prose 31 31
2. Poetry 25 25
3. VWyakaran 20 20
4, Essay Writing 08 08
5. Unseen Passage 08 08
6. Letter Writing 08 08
7.
8.
9.
10.
11.
12.




(@) ®fdg wR (Difficulty Level)

|0 30 SEGLL 3i® gfirera
1. W (Easy) 35 35%
2, 3T _(Average) 50 50%
3. dfod (Difficult) 15 15%

T 100 100%

@) yeaua e fder @ fAeen Aomm —
(Instruction's & Scheme of Option for Question Paper)

o IXTSS U H (05) dgfddmediy wed Term (05) Radd I @ Yfd /I el
1Y BT G AT ST 3R I8 Ucdes Ae H U HAld 1 BT |

@ UIF AC H1, 2Td 3 3@ & yAl H fA=ar & | TR 04 (F AT A
31fereh 3T & TSR qAT STESTRIT el H fddweq faar Srem 2 | fdaed
T I Pl W dAT FHM I & i | 04 3 IT I AP bl &

U9 UP AT H U FHAM Tedl |
o JIIfErdHTH ITR AT sifcrergsTda (2 3 /30 31e2) (3 3 /50 TI)
ST (4 3w / 75 W) (5 3ih /150 IR)
EEERAE (6 3 T Afdrd /250 91<q)



U — YA Dl Ql_!fl?

Blue Print of Question Paper

fdva— Oriya General quTies : 100
|qHY ;3 °C
QRIET © RN HbhUsy|
ELOH EEaE ECIEIE T ABIR 9 &l
. HTECT 3D |1 3| 2 o1k | 3 3B |4 SD|5 b6 3k | 8 &% | WA
)|
THY
s
1 |Prose 31 6 3 2 1 | — | — |8 (%)
2 |Poetry 25 4 | 3 1 1 | = | = |7(%)
3 |Vyakman 20 — | 2 - | 2] -] - 6
4 |Essay Writing 8 — — L i G 1 1
Unseen
2 8 = | ms e | = | e = 1
Passage
6 |Letter Writing 8 — — — —_ _ — 1 1
-
8
9
10
11
12
A 100 10 | (16) | (18) | 12 | 20 i 24 24+1
M| 8|6 1| © 3)




U — YA Dl Ql_‘la?

(Blue Print of Question Paper)
fawa:— Oriya General quTies : 100
99 : 3 T

TR : BN HhUey]

S5 — = 9 (Knowledge) Faed (Understanding) IO UF DET
ECaE (Application & Skill)
TEl % UHR
R | Tg|ade|de (e |dglaa g dae| e |glaa.lAaw| A=
= |FE = | =
x| 1|23 |a|s|e|a| 1|23 |af[5[6|af1|2|[3|a|5[6 |2
1 Prose C I I I A B B e I 0 e e e e e e I e e e e I I
2 Poetry |25 | —|—| —|—|1|=|—| 4 |3|2]|1|=|=|—|=|=|=|=|-| |~
3| Vvakran |20 |— |—=|—=|—=|—-|=|—-| = |=|2|-|2|=-|-| = |2|-|-|-| —-|-
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Unseen
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U — 9 P Aol
Scheme of Question Paper
forgar— ol quiieh : 100
9 ;3 HT
QRIEAT : ERR HHUSY
(@) YR SRV D HTER A
(A) Weightage as per Educational objective:
|0 3h0 SEGLL 3i® gfirera
. =M (Knowledge) 60 60%0
2, sadier  (Understanding) 10 10%
3. ITIANT T§ et (Application & Skill) 30 30%
T 100 100%

(@) SHEAR Pl BT 99

HOH0 | SPIS BT ™ $PlR W IAERT 3P | 913 & UTHU AR
Jrdfed sid

1. | g (@) 30 30

2. T (Ure) 30 30

3. THRIT 10 10

4. freg /93 sufesa Tenwr 30 30

5.

6.

7.

8.

)

10.

11.

12.




(@) ®fdg wR (Difficulty Level)

|0 30 SEGLL 3i® gfirera
1. W (Easy) 30 30%

2, 3T _(Average) 50 50%

3. dfod (Difficult) 20 20%

T 100 100%

@) yeaua e fder @ fAeen Aomm —

(Instruction's & Scheme of Option for Question Paper)

o IXTSS U H (05) dgfddmediy wed Term (05) Radd I @ Yfd /I el
Y BT e AT ST 3R I8 U Ae H U HHidb 1 B8R |

@ UIF UCT H1, 2 Ud 33D & U H far T | IR 04 3 AT 3N
31fereh 3T & TSR qAT STESTRIT el H fddweq faar Srem 2 | fdaed
T I Pl W dAT FHM I & i | 04 3 IT I AP bl &

U9 UP AT H U FHAM Tedl |
o JIIfErdHTH ITR AT sifcrergsTda (2 3 /30 31e2) (3 3 /50 TI)
ST (4 3w / 75 W) (5 3ih /150 IR)
EEERAE (6 3 T Afdrd /250 91<q)
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Blue Print of Question Paper
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i
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(Blue Print of Question Paper)
fawg:— ORI quiieh : 100

YT @ 3 ©C

QRIET : BRR HhUsy|
goasg —» = (Knowledze) T (Understanding) FIIONT U9 HET
e (Application & Slkill)
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U — 9 P Aol
Scheme of Question Paper
e — W e (TR Td 7 are) i : 50
9 ;3 HT
QRIEAT : ERR HHUSY
(37) Nuforp S & ITIAR HH

(A) Weightage as per Educational objective:

|0 3h0 SEGLL 3i® gfirera
. =M (Knowledge) 18 36%0
2, sadier  (Understanding) 21 42%
3. ITIANT T§ et (Application & Skill) 11 22%
T 50 100%

(@) SHEAR Pl BT 99

HOH0 | SPI§ BT AH Pl W IAEfed 3d |y -13 & UTHU AR
Jrefed 3id

1. SINIGEACIEGIE] 12 12

2, T et &1 5 5

fafdyr sy
3. st b1 Afdda 5 5
g Piccd

AT BT ITATT fdaRoT
UTGIhH & TN BT
R, a1 ferfa # foran
qISAhA & ATl BT ol

TIRE Bl AT
TRAY T BT s 5 5

10.
11.
12.




(@) ®fdg wR (Difficulty Level)

|0 30 SEGLL 3i® gfirera
1. W (Easy) 18 36%

2, 3T _(Average) 21 42%

3. dfod (Difficult) 11 22%

T 50 100%

@) yeaua e fder @ fAeen Aomm —

(Instruction's & Scheme of Option for Question Paper)

o IXTSS U H (05) dgfddmediy wed Term (05) Radd I @ Yfd /I el
Y BT e AT ST 3R I8 U Ae H U HHidb 1 B8R |

@ UIF UCT H1, 2 Ud 33D & U H far T | IR 04 3 AT 3N
31fereh 3T & TSR qAT STESTRIT el H fddweq faar Srem 2 | fdaed
T I Pl W dAT FHM I & i | 04 3 IT I AP bl &

U9 UP AT H U FHAM Tedl |
o JIIfErdHTH ITR AT sifcrergsTda (2 3 /30 31e2) (3 3 /50 TI)
ST (4 3w / 75 W) (5 3ih /150 IR)
EEERAE (6 3 T Afdrd /250 91<q)
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